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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
1
1) 440 2) 565 3 460 4 875
- 184 - 490 -131 -315 2
3
4.
5 491 6 920 7 231 8 531 >
- 100 -416 - 109 -304 5
7.
8.
9 265 100 172 11) 309 12) 539 0.
-212 - 165 - 300 - 389
il — 10.
11
12.
13) 401 14) 927 15 500 16) 310 13.
- 390 - 843 - 109 - 262
- 14,
15.
16.
17) 175 18) 972 190 195 20) 117 17
- 108 - 607 - 100 -114
18.
19.
20.
1-10 [95]90]85]80[75] 70| 65] 60 55 50
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3 Digit Minus 3 Digit Name: Answer Key
Use subtraction to solve the following problems. Answers
1 256
1) 440 2) 565 3) 460 4 875
- 184 - 490 -131 -315 2 75
256 75 329 560
3 329
4 560
5 491 6 920 7 231 8 531 > 391
-100 - 416 - 109 - 304 . 504
391 504 122 227
7 122
8 227
9 265 100 172 11) 309 12) 539 9 53
-212 - 165 - 300 ;389 v
53 7 9 150 1o
11. 9
12 150
13) 401 14) 927 15 500 16) 310 13 11
- 390 - 843 -109 ;262
11 84 391 48 u_ 84
15, 391
16. 48
1) 175 18) 972 19 195 200 117 . 67
- 108 - 607 - 100 - 114
67 365 95 3 18. 365
19. 95
20. 3
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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3 Digit Minus 3 Digit Name:
Use subtraction to solve the following problems. Answers
53 256 504 391 122
560 227 391 75 7 1.
150 9 329 84 11
2,
1) 440 2 565 3 460 3.
- 184 - 490 - 131
4,
5.
6.
4 875 5 491 6) 920
- 315 - 100 - 416 &
8.
9.
7 231 8 531 9 265 10.
- 109 - 304 -212
— — — 11.
12,
13.
100 172 11) 309 12) 539
- 165 -300 - 389 14'
15.
13) 401 14) 927 15 500
-390 - 843 - 109
M odified 1-10 | 9387|8073 67]|60] 53] 47[40]33]
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